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== e 3 CD’yHKuMﬂ BO3pacTaeT Ha
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e 4Mpux =0,y =1, rpadmk
npoxoanT Yepe3 Touky (0; 1)
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1. O6bnactb onpeaeneHuns —
MHOXXECTBO AEUCTBUTENbHbIX
yucen.

2. ObnacTb 3Ha4YeHum —
MHOYXECTBO MOJIOXKUTENbHbIX
NEeNCTBUTENbHbIX YKMCer.

3. OyHKUMS YObIBAET Ha
BCEN  4YMC/IOBOM MPSMOM.

4.Mpnux =0,y =1,
rpaduK NPOXoANT 4epe3
Touky (0 ; 1).
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KBaﬂpaTHOMy O=8°-4ac =2°-4x1x(-24)

- = 100> 0, HaxoauM y, = 4, y, = — 6.
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2X=4 n 2X==6
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33 TeﬂbelMM HepaBeHCTBaMM
}OTCFI HEpPaBEHCTBA BUAA

) > a9 , rOe a— nonoXuTenbHoe
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50/1CTBa [10KA3aTE/1bH
- PyHKUMM
>O  eEcM0 < a =
3aTEJ1bHO€ TO NMOKAa3aTeJIbHOE
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,(_;__, s> g9 ) af ) > g9
= ,fﬁaBHocmn bHO PaBHOCUIIbHO
~ HepaBeHCTBY TOro HEepaBEeHCTBY
Xe CMbIcna NPOTUBOMOJSIOXHOT
f(x) > q(x). O CMbIC/Na

f(x) < q(x).
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